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AD–101

B.A. Part—II (Semester—III) Examination

POLITICAL SCIENCE

(Selected Constitution & International Relations)

(Optional Subject)

Time : Three Hours] [Maximum Marks : 80

Note :— All questions carry equal marks.

1. Write short answers to the following :

(a) Describe composition of Cabinet of Britain. 4

(b) What is meant by Rule of Law ? 4

(c) Write the role of Prime Minister. 4

(d) Explain the Legislative Power of the Crown. 4

OR

(e) Write the functions of the Cabinet of Britain. 4

(f) Explain ‘Supremacy of Parliament’. 4

(g) Explain Executive Power of the Crown. 4

(h) Write the functions of the Prime Minister about Cabinet. 4

2. Write short answers to the following :

(a) Write the composition of House of Commons. 4

(b) Describe Judicial Powers of House of Lords. 4

(c) Explain the role of Opposition Party. 4

(d) Write the functions of Speaker of House of Commons. 4

OR

(e) Describe Legislative Powers of House of Commons. 4

(f) Describe composition of House of Lords. 4

(g) What is the role of Speaker ? 4

(h) Write the role of Shadow Cabinet. 4
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3. Explain the Powers of the President of America. 16

OR

Describe Election process of Vice President. 16

4. Select the correct option :

(1) What is the tenure of Member of Senate ?

(a) 5 years (b) 3 years

(c) 4 years (d) 6 years

(2) How many members are there in House of Representatives ?

(a) 650 (b) 544

(c) 435 (d) 550

(3) What is the tenure of Members of House of Representatives ?

(a) 6 years (b) 4 years

(c) 2 years (d) 3 years

(4) What is the Quorum of House of Representatives ?

(a) 51 (b) 218

(c) 30 (d) 40

(5) How many members of the Senate ?

(a) 19 (b) 100

(c) 50 (d) None of these

(6) Who is the Ex-officio President of Senate ?

(a) President (b) Vice President

(c) Speaker (d) None of these

(7) Who appoints Judges of the Supreme Court ?

(a) President (b) Vice President

(c) Speaker (d) None of these

(8) What is the Quorum of Senate ?

(a) 55 (b) 30

(c) 51 (d) 40

(9) What is the tenure of Judges of Supreme Court ?

(a) 5 years (b) 6 years

(c) Lifetime (d) None of these
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(10) What is the tenure of Speaker of the House of Representatives ?

(a) 4 years (b) 5 years

(c) 6 years (d) 2 years

(11) How many number of Judges of Supreme Court ?

(a) 2 (b) 21

(c) 9 (d) 31

(12) What is the tenure of President of Senate ?

(a) 2 years (b) 4 years

(c) 6 years (d) 5 years

(13) What is the tenure of Senate ?

(a) 5 years (b) 6 years

(c) Permanent House (d) None of these

(14) How to elect the members of the House of Representatives ?

(a) Direct Method (b) Indirect Method

(c) Single Transferable (d) None of these

(15) Which is the power of Supreme Court ?

(a) Original (b) Appellate

(c) Judicial review (d) All of the above

(16) How to elect the members of Senate ?

(a) Direct (b) Indirect

(c) By State Legislature (d) None of these 1×16=16

5. Explain the composition of SAARC. 16

OR

Describe the functions of SAARC. 16
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B.A. Part—II (Semester—III) Examination

POLITICAL SCIENCE

(Selected Constitution & International Relations)

(Optional Subject)

Time : Three Hours] [Maximum Marks : 80

¼ejkBh ek/;e½

lwpuk :—loZ iz’ukauk leku xq.k vkgsr-

1. [kkyhy iz’ukaph FkksMD;kr mÙkjs fygk %

¼v½ fczVuP;k eaf=eaMGkph jpuk o.kZu djk- 4

¼c½ dk;|kps vf/kjkT; Eg.kts dk; \ 4

¼d½ iariz/kkukph Hkwfedk fygk- 4

¼M½ jktinkpk fof/kfo"k;d vf/kdkj Li"V djk- 4

fdaok

¼b½ fczVhuP;k eaf=eaMGkph dk;sZ fygk- 4

¼Q½ ^ikyZesaVph loksZPprk* Li"V djk- 4

¼x½ jktinkpk dk;Zdkjh vf/kdkj Li"V djk- 4

¼g½ iariz/kkukps eaf=eaMGlaca/kh dk;sZ fygk- 4

2. [kkyhy iz’ukaph FkksMD;kr mÙkjs fygk %

¼v½ dkWeUllHksph jpuk fygk- 4

¼c½ ykWMZlHksP;k U;k;fo"k;d vf/kdkjkps o.kZu djk- 4

¼d½ fojks/kh i{kkph Hkwfedk Li"V djk- 4

¼M½ dkWeUllHksP;k lHkkirhph dk;sZ fygk- 4

fdaok

¼b½ dkWeUllHksP;k fo/khfo"k;d vf/kdkjkps o.kZu djk- 4

¼Q½ ykWMZlHksph jpuk o.kZu djk- 4

¼x½ ^Lihdj* ph Hkwfedk dk; vkgs \ 4

¼g½ Nk;k eaf=eaMGkph Hkwfedk fygk- 4
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3. vesfjdsP;k v/;{kkps vf/kdkj Li"V djk- 16

fdaok

vesfjdsP;k mik/;{kkph fuoM.kwd izfØ;k o.kZu djk- 16

4. ;ksX; i;kZ; fuoMk %

(1) flusV lHkklnkapk dk;ZdkG fdrh \

¼v½ 5 o"ksZ ¼c½ 3 o"ksZ

¼d½ 4 o"ksZ ¼M½ 6 o"ksZ

(2) izfrfuf/klHksph lHkklnla[;k fdrh \

¼v½ 650 ¼c½ 544

¼d½ 435 ¼M½ 550

(3) izfrfu/khlHksP;k lHkklnkapk dk;ZdkG fdrh \

¼v½ 6 o"ksZ ¼c½ 4 o"ksZ

¼d½ 2 o"ksZ ¼M½ 3 o"ksZ

(4) izfrfu/khlHksph x.kla[;k fdrh \

¼v½ 51 ¼c½ 218

¼d½ 30 ¼M½ 40

(5) flusVph lHkklnla[;k fdrh \

¼v½ 19 ¼c½ 100

¼d½ 50 ¼M½ ;kiSdh ukgh

(6) flusVpk infl) v/;{k dks.k vlrks \

¼v½ v/;{k ¼c½ mik/;{k

¼d½ fLidj ¼M½ ;kiSdh ukgh

(7) loksZPp U;k;ky;kP;k U;k;kf/k’kkaph fu;qDrh dks.kk}kjs dsyh tkrs %

¼v½ v/;{k ¼c½ mik/;{k

¼d½ Lihdj ¼M½ ;kiSdh ukgh

(8) flusVph x.kla[;k fdrh \

¼v½ 55 ¼c½ 30

¼d½ 51 ¼M½ 40
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(9) loksZPp U;k;ky;kP;k U;k;kf/k’kkapk dk;ZdkG fdrh \

¼v½ 5 o"ksZ ¼c½ 6 o"ksZ

¼d½ vkftou ¼M½ ;kiSdh ukgh

(10) izfrfu/khlHksP;k lHkkirhpk dk;Zdky fdrh \

¼v½ 4 o"ksZ ¼c½ 5 o"ksZ

¼d½ 6 o"ksZ ¼M½ 2 o"ksZ

(11) loksZPp U;k;ky;kP;k U;k;kf/k’kkaph la[;k fdrh \

¼v½ 2 ¼c½ 21

¼d½ 9 ¼M½ 31

(12) flusVP;k v/;{kkpk dk;ZdkG fdrh \

¼v½ 2 o"ksZ ¼c½ 4 o"ksZ

¼d½ 6 o"ksZ ¼M½ 5 o"ksZ

(13) flusVpk dk;ZdkG fdrh \

¼v½ 5 o"ksZ ¼c½ 6 o"ksZ

¼d½ LFkk;h lHkkx‘g ¼M½ ;kiSdh ukgh

(14) izfrfu/khlHksP;k lHkklnkaph fuoM d’kh dsyh tkrs \

¼v½ izR;{k i)rhus ¼c½ vizR;{k i)rhus

¼d½ ,dy laØeuh; ¼M½ ;kiSdh ukgh

(15) loksZPp U;k;ky;kP;k vf/kdkj dks.krk \

¼v½ izkjafHkd ¼c½ vfiyh;

¼d½ iqufoZyksdu ¼M½ ojhy loZ

(16) flusVP;k lHkklnkph fuoM d’kh dsyh vkrs \

¼v½ izR;{k ¼c½ vizR;{k

¼d½ jkT;kP;k fof/keaMGk}kjk ¼M½ ;kiSdh ukgh 16×1=16

5. lkdZph jpuk Li"V djk- 16

fdaok

lkdZP;k dk;kZps o.kZu djk- 16
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B.A. Part—II (Semester—III) Examination

POLITICAL SCIENCE

(Selected Constitution & International Relations)

(Optional Subject)

Time : Three Hours] [Maximum Marks : 80

¼fgUnh ek/;e½

lwpuk :—lHkh iz’uksa ds vad leku gSaA

1. la{ksi esa mÙkj fyf[k, %

¼v½ fczVu ds eaf=eaMy dh jpuk dk o.kZu djsaA 4

¼c½ dkuwu dk ’kklu ekus D;k \ 4

¼d½ iz/kkuea=h dh Hkwfedk fyf[k,A 4

¼M½ jktin dk fof/k laca/kh vf/kdkj Li"V dhft,A 4

vFkok

¼b½ fczVu ds ef=eaMy ds dk;Z fyf[k,A 4

¼Q½ ^ikyZesaV dh loksZPprk* Li"V dhft,A 4

¼x½ jktin dk dk;Zdkjh vf/kdkj Li"V dhft,A 4

¼g½ iz/kkuea=h dk eaf=eaMy laca/kh dk;Z fyf[k,A 4

2. la{ksi esa mÙkj fyf[k, %

¼v½ dkWeUllHkk dh jpuk fyf[k,A 4

¼c½ ykWMZlHkk ds U;kf;d vf/kdkjksa dk o.kZu djsaA 4

¼d½ foi{k ny dh Hkwfedk Li"V dhft,A 4

¼M½ dkWeUllHkk ds lHkkirh dk dk;Z fyf[k,A 4

vFkok

¼b½ dkWeUllHkk ds fo/khfo"k;d vf/kdkjksa dk o.kZu djsaA 4

¼Q½ ykWMZlHkk dh jpuk dk o.kZu djsaA 4

¼x½ Lihdj dh Hkwfedk D;k gS \ 4

¼g½ Nk;k eaf=eaMy dh Hkwfedk fyf[k,A 4
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3. vesfjdk ds v/;{k ds vf/kdkj Li"V dhft,A 16

vFkok

vesfjdk ds mik/;{k dh fuokZpu izfØ;k dk o.kZu djsaA 16

4. mfpr fodYi pqfu;s %

(1) flusV lHkklnksa dk dk;Zdky fdruk gksrk gS \

¼v½ 5 o"kZ ¼c½ 3 o"kZ

¼d½ 4 o"kZ ¼M½ 6 o"kZ

(2) izfrfuf/k lHkk dh lnL; la[;k fdruh gksrh gS \

¼v½ 650 ¼c½ 544

¼d½ 435 ¼M½ 550

(3) izfrfu/kh lHkk ds lnL;ksa dk dk;Zdky fdruk gksrk gS \

¼v½ 6 o"kZ ¼c½ 4 o"kZ

¼d½ 2 o"kZ ¼M½ 3 o"kZ

(4) izfrfu/kh lHkk dh x.kiwrhZ fdruh gksrh gS \

¼v½ 51 ¼c½ 218

¼d½ 30 ¼M½ 40

(5) flusV dh lnL; la[;k fdruh gS \

¼v½ 19 ¼c½ 100

¼d½ 50 ¼M½ buesa ls ugha

(6) flusV dk insu v/;{k dkSu gksrk gS \

¼v½ v/;{k ¼c½ mik/;{k

¼d½ Lihdj ¼M½ buesa ls ugha

(7) mPpre U;k;ky; U;k;kf/k’kksa dh fu;qDrh dkSu djrk gS \

¼v½ v/;{k ¼c½ mik/;{k

¼d½ Lihdj ¼M½ buesa ls ugha

(8) flusV dh x.kiwrhZ fdruh gksrh gS \

¼v½ 55 ¼c½ 30

¼d½ 51 ¼M½ 40
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(9) mPpre U;k;ky; ds U;k;f/k’kksa dk dk;Zdky fdruk gksrk gS \

¼v½ 5 o"kZ ¼c½ 6 o"kZ

¼d½ vkthou ¼M½ buesa ls ugha

(10) izfrfu/kh lHkk ds lHkkirh dk dk;Zdky fdruk gksrk gS \

¼v½ 4 o"kZ ¼c½ 5 o"kZ

¼d½ 6 o"kZ ¼M½ 2 o"kZ

(11) mPpre U;k;ky; ds U;k;kf/k’kksa dh la[;k fdruh gS \

¼v½ 2 ¼c½ 21

¼d½ 9 ¼M½ 31

(12) flusV ds v/;{k dk dk;Zdky fdruk gksrk gS \

¼v½ 2 o"kZ ¼c½ 4 o"kZ

¼d½ 6 o"kZ ¼M½ 5 o"kZ

(13) flusV dk dk;Zdky fdruk gksrk gS \

¼v½ 5 o"kZ ¼c½ 6 o"kZ

¼d½ LFkk;h lnu ¼M½ buesa ls ugha

(14) izfrfu/kh lHkk ds lHkklnksa dk pquko dSls fd;k tkrk gS \

¼v½ izR;{k :i ls ¼c½ vizR;{k :i ls

¼d½ ,dy laØe.kh; ¼M½ buesa ls ugha

(15) mPpre U;k;ky; dk vf/kdkj dkSulk gS \

¼v½ vkjafHkd ¼c½ vihyh;

¼d½ iqufoZyksdu ¼M½ mijksDr lHkh

(16) flusV ds lHkklnksa dk pquko dSls fd;k tkrk gS \

¼v½ izR;{k ¼c½ vizR;{k

¼d½ jkT;ksa ds fo/kheaMy }kjk ¼M½ buesa ls ugha 16×1=16

5. lkdZ dh jpuk Li"V djsaA 16

vFkok

lkdZ ds dk;ksZa dk o.kZu djsaA 16


